JO0[2 - ADAVTO, A0, HE M IRIYNE, WRILY, B'€6 O

2.7.1. Estes "2A6 — 2
It=1,13 [Ns]

tqg = 0,33 [s]

Mp = 2,6e-3 [kg]

Emed= 3,42 [N]
c = 434,62 [m/s] —
Is=4441[s] .~

2.7.2. — Quest A6 -4
It = 2,30 [Ns]

tq = 0,55 [s]

Mp = 3,5¢-3 [Kg]
Emea=418[N] ~
c=657,14 [m/s]
Is=67,15[s] -

2.7.3. - Estes B6 - 0,2,4,6
It = 4,33 [Ns]

tq = 0,86 [s]

Mp = 5,6e-3 [kg]

Emeg=503[N]
c=77321[mls]
Is=79,01[s] —

2.7.4.—QuestC6 -0
It = 8,85 [Ns]

tq =224 [s]

Mp = 12,0e-3 [kg]

Emedz 3,95 [N] o
c=73750[mis]
Is=7536[s] _~



